BC Calculus – FDW 3rd Edition – Section 6.5 Even Answers
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Quick Review 6.5
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   6. 60   8. 10   10. 

Section 6.5

2. A = -2, B = 4   4. A = ½ , B = -½ 
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  24.(a) 700 people (b) 350 people (c) 98 people/yr
26.(a) 5000 individuals (b) 2500 individuals (c) 62.5 individuals/yr  
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32.(a) k = 1, M = 200  (b) P(0) = 1, initially 1 student has the measles
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  (b) 83 yrs to reach 249.5 
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36.(a) Find dP/dt and substitute it and P into the differential equation. (b) M  (c) 0  (d)  This curve has no inflection point. If the initial population is greater than M, the curve is always concave up and approaches y = M asymptotically from below.
38.(a) Regression equation: 
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 (b) 458,792 people (c) 60th yr in 2010 (d)
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40. True. The graph will be a logistic curve.  42. B   44. B

46.(a) 
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48.(a) Add the fractions by finding the common denominator: 
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(b) Equate the numerators and expand and group terms.

     Ax2 = 1x2 
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, -2Ax + Bx = 3x 
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, A – B + C = 5 
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BC Calculus – Review Exercises – Even Answers

Quick Quiz – Sections 6.4 – 6.5

2. C   4.(a) 10  (b) 10  (c) Variable Separable: 
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 (d) limit = 0
Chapter 6 – Review Exercises

2. 2   4. 0   6. 
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 40. d   42. a   44. 2.362   46. d   48. yes,  y = x   50.[image: image50.jpg]



52. about 92 min   54. 41.2 years   56. 5.3%   58.(a) 
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60. By the fundamental theorem of calculus, 
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. Differentiate again and verify the initial conditions.

62. Method 1/ Compare the graph of 
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     Method 2/ Compare the graph of 
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64.(a) When you take the derivative of either F(0) or G(3) (constants), you get 0, so the derivatives of f and g are both u(x).  (b) 
[image: image57.wmf]3

0

()

Cutdt

=

ò


66.(a) 
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 (b) about 9.2 sec  (c) about 79.96oC     
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 (b) ln 2 or .693  (c) 600
�
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